Manuals+ — User Manuals Simplified.

Western Digital OpenFlex Data24 NVMe-
oF Storage Platform

[}

Western Digital OpenFlex Data24 NVMe-oF Storage Platform
User Guide

Home » Western Digital » Western Digital OpenFlex Data24 NVMe-oF Storage Platform User Guide -

Contents
1 Western Digital OpenFlex Data24 NVMe-oF Storage
Platform
2 Product Usage Instructions:
3 FAQ
4 Installation
5 Cabling
6 Bring-Up
7 Documents / Resources
7.1 References

SN
Western Digital

Western Digital OpenFlex Data24 NVMe-oF Storage Platform


https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/western-digital
https://manuals.plus/western-digital/openflex-data24-nvme-of-storage-platform-manual.pdf
https://manuals.plus/#western_digital_openflex_data24_nvme-of_storage_platform
https://manuals.plus/#product_usage_instructions
https://manuals.plus/#faq
https://manuals.plus/#installation
https://manuals.plus/#cabling
https://manuals.plus/#bring-up
https://manuals.plus/#documents_resources
https://manuals.plus/#references

[]
.
]
.
[ ]
.
|
]
.
.
[ ]
]
[ ]
]
[ ]

Specifications:

« Product Name: OpenFlex Data24 3200
« Weight: 29.7 kg (65.5 Ibs)
« Power Requirement: Highline, 200V AC

Product Usage Instructions:

Installation:

1. Install the rails into the rack:
1. Insert front pins of the rail into the front vertical rack rail.
2. Compress the spring-loaded rail and insert rear pins into the rear vertical rack rail.
3. Ensure rails are level both front-to-back and side-to-side.
2. Secure the rails:
1. Use a T15 Torx screwdriver to install one M5 screw at the front and two M5 screws at the rear of each

rail.

Bring-Up:

3. Install the enclosure into the rack:
1. Lift the enclosure onto the rails and slide it into the rack.
2. Secure the enclosure using captive screws on the rack ears.
Connect the management cables.
Connect the data cables.
Connect the power cables.
Verify the LEDs status as per the provided indications.

Determine the port IP addresses based on network configuration options.

© o N o g »

Discover and connect to devices once powered up.



FAQ

Q: What is the weight of the OpenFlex Data24 3200 enclosure?

A: The enclosure weighs 29.7 kg (65.5 Ibs).

Q: What power requirement does the OpenFlex Data24 3200 have?

A: The product requires Highline, 200V AC power supply.

D018-000662-000 | Rev. 01

Welcome to the OpenFlex family.
This quick-start guide sumarrizes the following installation and initial bring-up activities for your OpenFlex Data24
3200:

Detailed instructions for these steps and more are available in our installation and user guides, available at
WesternDigital.com.

For assistance with your Western Digital product, please contact our Datacenter Platforms technical support:

« Email: support@hgst.com
« Web: https://portal.wdc.com/Support

Installation

Install the rails into the rack.

« a. Insert the front pins of the rail into the front vertical rack rail. Ensure that the correct rails are installed on the
correct side.

« b. Compress the spring-loaded rail.

c. Insert the rear pins into the rear vertical rack rail.
« d. Ensure that the rails are level from front-to-back and side-to-side.
Always install rack-mounted equipment in the lowest available U-height in order to keep the rack’s center of

gravity low and reduce the risk of tipping.


http://westerndigital.com
mailto:support@hgst.com
https://portal.wdc.com/Support

Secure the rails.

« a. Use a T15 Torx screwdriver to install one M5 screw (with washer) at the front of each rail.
« b. Install two M5 screws (with washers) at the rear of each rail.

« ¢. The rails are now secure and able to receive the enclosure



Front Rear

Install the enclosure into the rack.

« a. Using lift equipment, or the help of another person, lift the enclosure and set it on the rails.
« b. Slide the enclosure into the rack until the rack ears are touching the front vertical rack rails.
« c. Use the captive screws on the rack ears to secure the enclosure to the rack.
The enclosure weighs 29.7 kg (65.5 Ibs). Either team-lift the platform, or use lift equipment when installing it into

the rack.



O
c
-~
U
=
-
4=

rZeIeg
xajJuadgy

vceieq
xa|juadQ

Cabling

Connect the management cables.

Connect the data cables.



Connect the power cables.

The enclosure has two power supply connections; both power cords must be removed from the power supplies to
completely remove power from the unit. Power should be Highline, 200V AC to both PSUs.

Bring-Up

Verify the LEDs

Enclosure
ldent: Off
Data Port LRl e rice: OFf
#1: Blink
PSU: On o i bl Foult Off
6 #3: Blink Power: On
#4: On

5]
]
]

W

i3
=2
[
) T — Mgmt Port g | Mgmt Port
IOM Service: Off Link.gActiwtv: | Speed:
IOM Fault: Off On | Blink Off | Green |
IOM Power: On Amber Drive
Status:
On

Determine the port IP addresses.

Primary Option
If the network has been configured with a DHCP server, the enclosure’s RJ45 management ports and QSFP28



data ports will be assigned IP addresses using DHCP when the enclosure is initially connected to the network:

enclosure name>-iom<a|b> (IOM management ports)
<enclosure name>-iom<a|b>-aic<a|b|c> (IOM data ports)

The <enclosure names> is configured by the enclosure manager (EM) and will use the following naming
convention:
openflex-data24-3200<serial number>

Secondary Option

If there is no DHCP server available on the network, the platform will fall back to static link-local addresses in the
169.254/16 IP range for the data and management ports. The host name will have the .local suffix added. Initial
network configuration will require local access through the RJ45 management port to a direct-connect host or
laptop. Do not use the 129.254.0.X subnet on the host as it will not route.

Discover and connect to devices

« a. Open a terminal and use the nvme-cli utility with the adapter’s IPv4 address to discover all NVMe™ devices
installed on the fabric: # sudo nvme discover -t rdma -a <ip_address> (IOM data ports)

« b. Review the output to locate the subngn associated with the device to be connected.

« c. Connect to the device using its subngn: # sudo nvme connect -t rdma -i 16 -a <ip_address> -n <subngn>

« d. Verify the connection: # sudo nvme list -v

Documents / Resources

=4 E®adl | Western Digital OpenFlex Data24 NVMe-oF Storage Platform [pdf] User Guide
Bl = ‘ OpenFlex Data24 NVMe-oF Storage Platform, OpenFlex Data24, NVMe-oF Storage Platform,
s E | Storage Platform, Platform

References

» User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.


https://manuals.plus/m/8958c1c1627a9221cb10bc1b6e145d7fd991f2782509a8d8d8991ce44e6a0ada
https://manuals.plus/m/8958c1c1627a9221cb10bc1b6e145d7fd991f2782509a8d8d8991ce44e6a0ada_optim.pdf
https://manual.tools/?p=12496176#MTA0LjI4LjIzNC4xNzg7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	Western Digital OpenFlex Data24 NVMe-oF Storage Platform User Guide
	Western Digital OpenFlex Data24 NVMe-oF Storage Platform
	Product Usage Instructions:
	FAQ
	Installation
	Cabling
	Bring-Up
	Documents / Resources
	References



